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= Note: 7awnp plays a central role in ow7p. Each of the 4 mymay (ap»r,n257,077 nb3p ,Avnw) must be done with the
proper nawny or, at least, without an improper 7awny. Nearly all m1277 which are offered with intent for a different
type of 1377 - e.g. an 5w brought ow5® ows —are valid, although they are not reckoned to the account of the donor.
noa is one of the famous exceptions to this rule — if brought with explicit intent for a ow5w (e.g.), it is invalid
= Note: there is a dispute in 779057 'Dp between PRp “1and *0y ’7 as to whether we consider a person’s entire statement
even though part A contradicts part B (»o1 *3), or whether we accept part A and ignore part B(778p 7).
= Note: a noowhich is offered at any other time (other than the afternoon of the 14") is a valid o'n5w — unless it is offered
nos ows. Here, “wrong” nawnm may render it valid.

L.7a mwn: Improper nawnn
a. sy ows noo. if a noa is offered wnYw DV — or partially n>w DYWY —is Y109
b. Whether: the 1+t or last "y — or any of the 4 mmay (see note) are done D'nYw DYWY — 5100 127p
i. Authorship of mwp. n™ OR oY " (see note)
1.Question: is yawY RYV MW within 1 "may or only if an entire nT2y was performed 1MV RHY
a) Note: issue only relevant re: 1nv% R5w1 1mWY (™1 would agree that if 15t nawnn was 1NYY R5W — N09)
2.proof for 2oy “7as author: from 27 clause — 1YY YWY INWY — even within 1 nmay it’s invalid
a) rejection: 2" clause may refer to multiple intents at point of NVNY (DN%Y DVWH NPIN NNV NVNVY)
b) implication: nTYayh nTiayn Pawnn (9"’s attach — > oonar)
3.proof for »71 from 3t clause: W5 MWH ®YY must certainly be within 1 nmay (if 2 mmay, certainly »109)
a) therefore: 2nd clause must also be within 1 nmay (=ov ')
b) rejection: parallel construction (3 clause is essentially superfluous)
4.proof for »71. 1t clause of 1 mwn: 1 n%va Nawnn (wrong group) is clearly within 1 Amay 2our mwn -1 nmay
a) rejection: each is judged independently (our nwn may still be 2 mmay)
5.proof: from 274 clause of » mwn: mixed nawnn (partial wrong group) clearly within 1 nmay->ours also 1 nmay
a) argument: if it were 2 M2y, no reason for wrong group to affect np>ar: NP1 PYH2IR NaVNN PR
b) rejection: each is judged independently (our miwn may still be 2 mmay)
II.  Question: status of a nva bought with “mixed” intent during the rest of the year
a. ’»’7 /7 just as NnWY doesn’t “save” it from nNNWY ROW on T, NNWH ®YW doesn’t “save it” from NNWY other times
b. mn7 7 NnWY RYW is stronger as it applies (as a %09 ) to all onar
c. ~27.valid, since the default is mw), yet saying mw) RY® “saves it”
i. Challenge (7278 73 878 77): perhaps the statement “1nwY” is stronger than the default (and harms it)
1.Proof: wrong “group-think” (v9218Y 85v) invalidates, but stating both (¥9218Y R5W1 Y92IRY) is still 1w
a) Even though: the default is 92189
2.Defense: the “default” of ¥9218 must be defined, since they could change groups, unlike the nnw5 of the j21p
II. Question: what is the status of a noa brought for the “wrong donor” (n9ya n1w) during the rest of the year
a. 977 (presented to 817): just like wTp "YW invalidates on T and “saves” any other time, similarly n’%pa n1w
i. Challenge (837): disanalogous: wTp 1w has following characteristics:
1.1912 5102 invalidity in its self (statement about j27p, not owners, who are ancillary)
a) Note: this distinction is weak, since both cases are about “intent”
2. Application: to all 4 mmay (D92 "W only applies to N1 in other Na7p)
3.Duration: exists after life of donor
a) Note: this distinction isn’t perfect; 'nXk "7 112 oMo "1 holds that nnon ANRY DHY2 NPV W
4. Affected population: applies to public as well as private miaap
b. x37: ©oya "y the rest of the year:nva without owners on T 29108
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